Table 2 Baseline demographics

Continuous covariates® Patients Healthy volunteers Total
(n=147) (n=72) (n=219)
Age (years) 46 £ 12 27+£5 40+ 13
gely (47, 23-75) (27, 18-38) (38, 18-75)
64.4 £12.2 62.4+£6.0 63.7+10.6
BW (kg) (62, 44-100) (61.5,51-77) (62, 44-100)
2 23.8+3.0 222+1.6 233+2.8
BMI (kg m™) (23.7,18.0-31.6) (22.2, 19.0-25.0) (23.0, 18.0-31.6)
g 147 £14.7 148 £13.5 147 +£ 143
HGB (g 1) (146, 111-183) (151, 114-171) (148, 111-183)
1 449+35 470+24 45633
ALB (g1) (44.6, 36.9-54.3) (47.1, 41.4-52.4) (45.9, 36.9-54.3)
q 723+754 144+64 53.3+67.5
ALT (U T (52, 10.3-666) (13, 5.0-34) (31.6, 5.0-666)
q 51.0+£39.2 17.2+4.1 39.9+359
AST(IUT) (41.1,19.2-301) (16.0, 10.0-33.0) (30.1, 10.0-301)
1 15.1+6.2 11.6 £4.1 14.0+£5.8
TBIL (mg dI) (13.9, 3.1-37.7) (11.0, 3.7-21.4) (12.9, 3.1-37.7)
CLer (ml min™)’ 109 +30.4 97.6£11.6 105 +£26.3
(103, 48.0-227) (95.5,77.6-128) (99.8, 48.0-227)
Categorical covariates®
Gender
Male 72 (49.0) 54 (75.0) 126 (57.5)
Female 75 (51.0) 18 (25.0) 93 (42.5)
Co-medication sofosbuvir
Yes 129 (87.8) 0 (0) 129 (58.9)
No 18 (12.2) 72 (100) 90 (41.1)
Food status
0 (Fasted at least 10h) 129 (87.8) 71 (98.6)° 200 (91.3)°
[ (Fasted at least 4 ) 18 (12.2) 0° 18 (8.2)°
2 (High-fat meal) 0(0) 15 (20.8)° 15 (6.8)°

* Mean + SD (median, range) for continuous covariates and n (%) for categorical covariates

® Creatinine clearance (CLcr) was calculated by Cockcroft-Gault formula: CLcr (ml min™) = [140 —
Age (year)] x BW (kg) x 0.85 (if female)/[72 x Cr (mg dI)]

¢ The total percent was not 100% because there are 14 identical subjects both in the group of food
= 0 and in the group of food =2

SD, standard deviation; BW, body weight; BMI, body mass index; HGB, haemoglobin; AST,
aspartate aminotransferase; ALT, alanine aminotransferase; ALB, albumin; TBIL, total bilirubin;
CLcr, creatinine clearance



